dfm

"Use and manipulate surds, including rationalising the
denominator." (Standard)

Question 1

Write 80 in the form ¢V5, where ¢ is a positive constant.

(1 mark)

Question 2

Simplify (2\/3)2

(1 mark)

Question 3

Express

(5-v8)(1+V2)

in the form a + bV2, where a and b are integers.

(3 marks)

Question 4

Express (2 — \/§)2 in the form b + ¢v3, where b and c are integers to be found.

Question 5

Simplify V50 — /18, giving your answer in the form av2, where a is an integer.

(2 marks)

Question 6

Find \1/—; — /27 in the form k+/3, where k is an integer.

(4 marks)

Question 7

Express % in the form a + b3, where a and b are integers.
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Question 8

By first simplifying V32 + V18, simplify

V32+18
3+vV2

giving your answer in the form bv2 + ¢, where b and c are integers.

(4 marks)
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Mark scheme

Question 1

45

(a) 80=5x16

VB0 =445

Bl

Question 2

20

20 | Sight of 20. (435 1s not sufficient) Bl

Question 3

14 3V2

O | (s-)+)
=5+542-\8-4 MI
=5+5\.l"_—2\.'f_—4 JEE:Z\,"i seen or implied at any point. Bl
=1+32 1+3v2 ora=1and b=3. | Al

Question 4

7 —4+/3

Question 5

242

V50 = 547 or+/18 = 34/2 and the other term
V50 - V18 =542 342 in the form k~/2 . This mark may be implied | M1
by the correct answer 22

-2 |Ora=2 | Al
Question 6
2V3
M1: Attempts to multiply numerator and
15 15 J?_, 5\,"?_: denominator by %3. This may be implied Al
TEETEATES by a correct answer.
3 3 3
BB Al: 543
V27=343 B1
15 'J'_
=2 _27=23 Al
3
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Question 7
8 —2v3
Question 8
3V2-2
()| 3-42 3442

><3_\l|2 ﬂx_3+\[5 seen M1

2(3-+2
V{E+Jﬁx3_ﬁ= aJ_( J_) — BRJE_ER (or better) dM1
3442 T3-42 [9-2] [9-2]
- 32,2 ALLAL (4
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